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PelweHne KBagpaTHOro
ypaBHeHUsA

ax?+bx+c =0
D= b?-4ac

-b+\D

X 1,2= 2a




OOpaTHble
TPUrOHOMEeTpPUYeCcKune

byHKUUN

arcsin a € |-n/2; n/2]
arccos a € [0; =}
arctg a € (-rt/2; n/2)




[lpocTenLune
TPUroOHOMEeTpPU4vecKkue
YpaBHEeHUA

sinx=a,ac€ [-1;1]
cosx=a,ac€ |[-1;1]
tg x =a, a € (- 005 0)




[lpocTenune

TPUroOHOMETpPU4YeckKue
ypaBHEeHUA
a 0 1 -1
sin X | X=(-1)" arcsin a | X=nn X=m/2 + =-7t/2 + 27tn
+ 7tn 27tn
cos X | X=x arccos a+ |X=m/2+ X=27n X=m + 271tn
27tn 7n
tgx |X=arctga+nan |X=nn X=mn/4 + 7in | X=-n/4 + nn

n€7Z




OOpa3ey pelueHus

2sin*x - 3sin x +1=0;
sin x = t;
2t2-3t+1 = 0;
D=(-3)>-4-2-2 =9+ 16=25=5%;
t1,2= (3+5)/4;
ti=2; =05
sin X =2 HeT pelleHus, T.K. 2 He npuHaAIexKuT [-1;51]
sin x=10,5 ;
X = (-1)n arcsin 0,5 + tn, n €Z;
x=(-1) 7/6 + 7n , n €Z.
OtBer: XxX=(-1)" /6 + in , n €Z.



OcHOBHOe®e
TPUroHomMeTpUu4veckoe
TOXOEeCTBO

sin‘a + cos’a =1
sin‘g, =1 - cos?a
cos?a =1 - sin’a
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PelunTte ypaBHEHUS

T

AN

1) 2cos’x—cosx—1=
2) cos*x+6sinx—6=0

3) 2sin“x+7cosx+2=0



